SSLC Maths PILtLrere %f& 2075

aM2aImECUyMI&ud (Arithmetic sequences)
1. 8@ aunomo cueemlwes @REyaide 10 @rem. @O Halo@AIY®IMVo 3 GRWIGS

GUYMIWInAI @RYBIHOD AN’ alB6BBU3 nf) Do
100 o™ eEYMIVIOL! al3MIEEMI ag)aM’ aldlCUIWBsH ( March 2015)
a) ewemles 10 -)0 «izpag®s
b) n-)0 aiBeAEDH: ( MARVEMI® HBalo)
C) D@Ll aBO®BIejo OMNG 0 IBEBSOS QY®IOMVo 45 ARYG:En0?
d) v cuyemwleel af)@ aldmoem’ 1817

The first term of an arithmetic sequence is 10 and its common difference is 3

Write the first three terms of the sequence

Verify whether 100 is a term of this sequence? ( March 2015)
a) Write its 10™ term
b)  Write its n term ( Algebraic form)
c¢) Can the difference between any two terms of this sequence be 45?

d)  Which term of this sequence is 181?
2. BT Vom0 CUYMIYANS DSHNo MERHM®IM” 5,9,13.... O®1oel BRSO all3o aR@IeM?

2012 M euyIMIW1oel B alBMIGIMI? af)IDOHIMNE? ( March 2012)
a) DONOL! aBO®B;]ejo VNG aIBEBSOS Q@O0 84 @RYH:E?0?
b) ®@ea n-)0 aisoag@e: ( MARVWMI® @alo)

An arithmetic sequence starts as 5,9,13....What is its next term? Is 2012 a term of this
sequence? ( March 2012)

a) Can the difference between any two terms of this sequence be 84?
b) Write its n" term ( Algebraic form)

3. 9a10@aII®IRIVo 3 BRW B TVAVMNO GUHEM] )@ MO} 11-)0 al3o &:06mOH:

( March 2016)
a) D@Ll aBO®B:]ejo 0N alBEBSOS @O0 6 ERB:E!0?
b) o®@ecd n-)0 aizeag®e: (MARVIMI® GBalo)
) O®1003 BRYBIHOD 15 A IBEBBBOS D> BHIENVD:
Write an arithmetic sequence with common difference 3 .Find its 11" term. ( March 2016)

a) Can the difference between any two terms of this sequence be 96?
b) Write its n" term ( Algebraic form)
c¢) Find the sum of the first 15 terms of this sequence

4. 6,11,16....8@ aqLOIIMO GEYIMIWIM . MDIOLI BRSO olBo aF@®I6M™?

0 ¢EyIMIVINRI 8G al300W] AUBAD aFQ0jo HaI01W FANES TVoaly ag@em?( March 2014)
a) ooload 11-)0 aiso @06
b) @1 ErEIEe® 15 I3EBEHs @H0 @RGOm 15 2186B8eS DHQo
@188 QY@ LOMVo 36N

6,11,16... is an arithmetic sequence . What is its next term? Which is the least three digit
number being a term of this sequence ? ( March 2014)

a) Find its 11" term
b) Find the difference between the sum of the first 15 terms and the next 15 terms

of this sequence

(1)



5. 2JOIOS OHISOMIQTHBAM TVAIMMOEUYMIWIHELI PENINCOMQYo MILIINBBN QYo alB36B13UI

m1§c3uo®ﬂ(o%essm . M MLNIMO QUGB alB68BU3 HhI6MOd:

11, ------- , 19, - - yreereerenns ( March 2013)
a) 8@ TLAIMNAGUYEMIQOS HAIDAILMIIMVo 5 al@®Io allo 50 . 20-)0 alBo B:06M0s:

b) 8@ quaIMmEEEYIMIYOS @RYBJaldo 5 ald®do aldo 50 . 20-)0 alBo IO

C) 8@ ALVAAMACUYMIWYHS @RYNJo alBo 19 almEMPIoaildo 41 @RYWIMS 40-)0 alBo BB,

Second and fourth terms of the following arithmetic sequence are missing.
Find the numbers at these positions ( March 2013)
11, -----—-- , 19, - --—-- yeveeneeees
a) Common difference of an arithmetic sequence is 5 and its 10" term 50. Find its 20" term
b) First term of an arithmetic sequence is 5 and its 10" term 50. Find its 20" term
c) 6" term of an arithmetic sequence is 19 and its 17" term 41.  Find its 40" term
6. a) 8@ MVIMOCEYIMIWNS @RI aldo 40 o ald™Io aldo 20 9o @RYsM. M
cUyMIWInel al®IMEe™Ido alBo af)@WIEM?
b) v eEyMVIOE! 0f)(@ IBEBRUY BS1WIG Db afRio &1go? ( March 2014)

a) Fifth term of an arithmetic sequence is 40 and the tenth term is 20 . What is the
fifteenth term of this sequence?
b) How many terms of this sequence will be added to get zero as the sum?
7. a) 1,4,7,10,...,....a00M qU@amOCUHMIQeSs NRWeMI® @Balo af)§Dd

b) 100 o™ eWYMIVIPERI IBMIEEMI? af)IDOBHIMNE?
C) 0 ¢EyIMIVINL! aFO®IM aIBOMIEBQ B CUHIMIWINRI GO alBBId:0 ag)an”
o3B3 H (March 2013)

a) Write the algebraic form of the arithmetic sequence 1,4,7,10....
b) Is 100 a term of this sequence ?
¢) Prove that the square of any term of this sequence is also a term of this sequence

8. a) 8,11, 14,....aam qV2O®OEWYMIWS MARWMI® HBalo af) LD
b) 121 o™ cureMIVILl IBMIGEIMI? af)IDHGHINE?

0) ™Y eWyMIVIHEl 3 aIBOMIERQ AIdYo GURMIVISEI 01BNl e’ MVDAMCN SR>

(March 2014)
a) Write the algebraic form of the arithmetic sequence 8,11,14.....
b) Is 121 a term of this sequence ?
c)Prove that the square of any term of this sequence is not a term of this sequence
9. 8@ MNIMOEEUHIMIYSS BRYBIOOM N o IBERBOS D& 3N*+N @Y
DM EYIMIYOS @YBJalB0jo HAIIDAILMIONVAJo BN (March 2015)
The sum of first n terms of an arithmetic sequence is 3n*+n
Find the first term and common difference of this sequence
10. 3@ MWRIOEUYIMIYHS BRYBIOOD N al3ERSHS D 3n’+2n  @em.

DM EYIMIYOS  HAIDAIIMIOMVAJo MARWIMIDGalQfo af) gD (March 2016)

The sum of first n terms of an arithmetic sequence is 3n°+2n
Find the common difference and algebraic form of this sequence
11. &®@ aV2MmECEIMIWSS GREIPOD N IBEBRSOS D 5n*+2n @

a) MM CUYIMIWHS @RYB LD QNS 2 1363B8OS D af)@?
b) om euyIMIVIPEL! BRYBIHT VNG al3EROSLD (March 2013)
(2)



The sum of first n terms of an arithmetic sequence is 5n*+2n
a) What is the sum of first two terms of this sequence?
b) Write the first two terms of this sequence

12.  9,15,21,........ af)aD AVAIADOCUYEM] aIBlNMIBBH (March 2015)
a)n® ¢S MARVMIDBolo af) Db
b) M cwremwInal M@alOIWeIIo alBo &I
C) ewmIQes 25-)0 aigo g®@s 50-)0 alBo AIOOWSS MVoAIIDHSOS D> BHINVS
d) o cEremIdleel ag®oamo al3sEBges @s 2015 @R®:E20? af)aDOH:0ms?

Consider the sequence 9,15,21.........
a) Write the algebraic form of this sequence
b) Find the twenty-fifth term of this sequence
c) Find the sum of terms from 25" to 50" of this sequence
d) Can the sum of some terms of this sequence be 2015? Why? (March 2015)
13. 6,10,14,........ af)aN TVAVAMOGUYEMT IRl BB H:

a) M cUYMIVIPEL! ERYRIHO™ N 0 IB36BBBOS D af)aMIeM’?

b) @v ewyeMIVIeLl BRYBIPOD BWSB2 WOV af)@ AlBEBRUY &S1WIT3 @& 240 &1%0?

C) Y cUYMIVINLI BRBIOT BSAB2 WOV $0a) a1B6TBBOS D> 250 @ry®e:emd?
af) DO BH6N? ( March 2014)

Consider the sequence 6,10,14.........
a) What is the sum of first n terms of this sequence?
b) How many first consecutive terms of this sequence should be added to get the
sum as 2407
¢) Can the sum of first some consecutive terms of this sequence be 250? Why?
14. a@ rvaamecUesMIYRS §ando aldo 34 9o af)3do allo 69 9o @RYEM”

a) MM eEYIMIYOS O lIDAIIMLIMVO B

b) o® ecwyemles mARVIMIDBalo af)§DH

C) MM eUYMIYPS BIC0I alBCOWQo 4 HBHIME” Welal' 3 @S] oW BB EUYaM]
M3 2003 @R CUYMIWIHAL! aldMIo alBo af)@WI6MN? ( March 2012)

Third term of an arithmetic sequence is 34 and its eighth term 69
a) Find the common difference of this sequence
b) Write the algebraic form of this sequence
c) If a new sequence is formed by multiplying each term of the given sequence
by 4 and adding 3, then what is the tenth term of that sequence?
15. 6 913 WMV aFYJe H2IO1W PYANHH MVoRIY GO ?

6 90§ LIM®AOV ag)Lld YANHD TVOAIYBHBESQo D HOEMOD

What is the least three digit number which is a multiple of 6?
Find the sum of all three digit numbers which are multiples of 6 (March 2012)
16. 5 03061 a0@1J0@8 UBlaygo 1 AUGBAD ag)EIP@ MVoAIYHBHS EUHEIMIVOL! BIRYBIHOD AT

al3@ROsE®H: . 510 ™M GUYIMIWINAI 2IBMIGEMI af)dM” alB1CUIW]HB S

( March 2017)
Write down the first three terms of the sequence of natural numbers leaving
remainder 1 on division by 5. Check whether 510 is a term of above sequence

3)



17.

80600 2l@OM]ELIN0 §.2101Q TVAIDOEESOS AUWEBW  2,5,8........... af)an VAOMO

cEreMIWleje ALl AVR2IDOEBBIONS QAUUDEBBUD 58,11 ...... apa» VRO

cUyeMIWlejo @GrRyY6M.

a) oeng CUYMIBHBESWo MIARNMI® (GalODYDS

b) 82600 2N@OmIERIR0 M0 HHISOD BINOMIOMG al0q]801003 CUYMIWOS
MNROMI® GBoldDgDH: (March 2017)

In these figures, the sides of the smaller squares are in the arithmetic sequence
2,5,8.....and the sides of the larger squares are in the arithmetic sequence 5,8,11....
a) Write down the algebraic form of each sequence
b) Write down the algebraic form of the sequence of areas of the shaded portion in
each figure

18.

B0 2N@O®I@ 2IEMIOR Mgo 2 HaV. A190IW TVAZR@IEHEMAVM”. GO
RRIHE1EINS 2f) @ 1GQUUENIM” AVAIANORIW AUOH:UY QA ANZILHOM ~l(@o AIAL[lG1HB3W
0V @16%HMOW]ON PLINHSIEIOS o) ®1BAUNADIM” TVAXDO QIOBHU QID.2J06M” JANIAOHDD
afl@o 0102[10188MM®. MEBOHM @DSGMNIGE LIS1HBAN B06OI 2I@OBIERIY aBQ0jo Qlellw
@16B306MEBBB6S

a) 2J980JBEOS CUHEM] af) §OH

b) al10qi80)5:865 cWYMI afgDH>

C) @M3 GEYTMID:BESQo MARWIMI® GolOAYDH> ( March 2017)

The first figure above is an equilateral triangle of side 2 centimetres . The second figure
is obtained by drawing lines passing through the vertices and parallel to the sides of the
triangle in the first figure . The third figure is got by drawing lines passing through the
vertices and parallel to the sides of the triangle in the second figure

a) Write the sequence of perimeters of biggest triangle in each figure obtained by
continuing this process

b) Write the sequence of areas of biggest triangle in each figure

c) Write algebraic forms of both of the above sequences

(4)




@ROLIE, 13
8@ VAN BUYMIYHS BRYBYal3o 2 o HalIDAUY®IOMVo 4 Do @RS
a) DY eWYMIVILI BRYBIHOD alTIY) a136BBBOS D> 6N
b) cwyem el eameIo aldo A alMIOMIMMIO alBo NIHOWVSES o IO a1363B8OS D
af) @Woem”?
C) GUYIMIVIeLl DSABa|VWIW aBO®E]Ljo o IO 2 1363B8OS D 500 @R®:end?

The first term of an arithmetic sequence is 2 and the common difference is 4.
a) Find the sum of the first ten terms of this sequence
b) Find the sum of the ten terms from the second term to the eleventh term
¢) Is it possible that the sum of any consecutive ten terms of the sequence is 500? Why?

gomesud  ( Circles)

1. AB aippaum 8@ gJomo al0s101esam. JormamIme@:am] C a)an 8@ mila3 Grswis
DajsomGlasm. @ledoemo ABC aloaf’ < C @pgommg@l@eajoud oayas” 70° agam”

&5l 0lmaes” 110° agyan” #15). aggmoem” <C @os GElwo @R8I? af)aed:0mns?

A circle is drawn with AB as diameter . A point C is marked inside the circle. On
drawing triangle ABC and measuring < C Remya got 70° while Reena got 110°
Which is the correct measure of <C ? Why?

2. Al@omlad O qomes@ope <AXB=130° Qo @rem”
<AYB , <AOB a! &>06me

A
In the figure O is the centre of the circle and <AXB=130" Ux
Find <AYB ,<AOB (March 2016) v /
B
A

3. al@ooad A,B, C,D,E agamal gomomieel enlazengiem.
<A+<B+<C+<D+<E=180° agan’ o ogl0No86

In the figure A,B,C,D and E are points on a circle. E B
Prove that <A+<B+<C+<D+<E=180°

( March 2013)

C

4. 2JOIOS OHISOMIGTABAM afll@o alBlWEMABH:

2l@omIeel Qoo coH@aoem” O @éste® ABC e
M6 10800] @le:oemaje OBC a@ quasR@)es06mojmasm”
<A, <ABO agamlal &enga NS1oss

Consider the following picture . O is the centre of the circle
Besides ABC is an isosceles triangle and OBC an
equilateral triangle Find <A, <ABO (March 2014)

)



5. al@o®Iad O cH®BMW YomOmIOa GRoe 6 oav. al Gryem”

&s00m PA=4 eav.01 PB=5 saav.m
OP @es m1go &06mos» (March 2014)

In the figure , the radius of the circle with centre O is 6 cm.
Besides PA= 4cm PB=5 cm .Find the length of OP A~_P B

6. aN@om@ C qomes@miem. asiom <ABD=30°
a)<ACD s @rsal af)@oem? B
b) <ABD=<CAB sie®m AB=6cm
QYODOD O BYQ0 DHEMANIABD:
In the figure C is the centre of the circle and <ABD=30° D
A
C
O P
A

9 4
D

a) What is the measure of <ACD ?
b) If <ABD=< CAB and AB= 6 cm, find the radius of
the circle ( March 2015)

OR
B

al@omiad O gomes@miem.  AB  agan alyoavomlm”
eloInePO® a@ emoemoem” CD @ésoo@ PA=9 cm
PB=4 cm

a) PC x PD ag@oem?

b) PC,PD ool eenglende mlgo 860 Mua®o ag)siN@ Muoaly @RAflel afamn” muadaclosd
In the figure O is the centre of the circle .CD is a chord which is not perpendicular to the
diameter AB .PA =9 cm and PB=4 cm

a) What is PC x PD?
b) Show that the length of PC and PD cannot be natural numbers at a time  ( March 2015)

7. 30 oav.01 GROASS B 2GONOAG aBQOlo
2 JOGCOWIW] B@3 BRSWIBYME" . BRSWIBo  MEa|IUd
2@OMIGT HI6MANDEalINL! MIRIGOMIS
GalBmMIEM” 988™ . ali@o 8@ eMAcoaIlees 31.4 °
OaL.0°1 OTENRBOGI
a) al@o af)@ CHMB0NG MB1Wo ag)am”

&Md983H( [] = 3.14 ag)an e300 aflel
@199 0)
b) @rswoigo MeITMIIN” af)(@ 2VWOOm1LINWIGB830? ( March 2015)
There is a mark on the outermost part of a wheel of radius 30cm .Now the mark is close to the
ground as shown in the figure. If the wheel rolls 31.4 cm on a straight line , then
a) Find the angle by which the wheel rotates (use [] = 3.14 as an approximation)

b) What will be the height of the mark from the ground?
(6)




8. 2sN@omI@d AP  qomomlang emIgaI0Q0
@exo6mo APB a8®@ aumaliodwol @16@:06majo @yem”
2500 <APB =50° @es06mo ABC @)es00mo APB
MOIYHS BHINMBOJHUI hoeos  ( March 2012)

In the figure AP is a tangent to the circle and triangle APB

is an isosceles triangle .Besides <APB= 50°-Find the angles
of triangle ABC and triangle APB
9. 2N@om@ AB qomooead aigoavoe AP

amogsalo@aoem. PB=9 aav.o1 PQ= 4 eav o
@RWI@ AP @os ™80 :06md . QOOM1O3 @Yo
af) @6’ ( March 2012)

B
In the figure AB is the diameter and AP is the
tangent . PB =9 cm PQ= 4 cm .Find the
length of AP . What is the radius of the Q
circle?
A

10. sN@omas CA,CB ol gomomload

A
O®ISNI0DHB6M’. @500 PA=PB.<C=40"
@lemoemo PAB  @es ea0emsaiaud
06N (March 2013) C
In the figure , CA and CB are tangents P
to the circle. Also PA=PB and <C= 40°
Find the angle measures of triangle PAB
B

11. 2N@ON@3 36NN 2IDABR0

P

ABCD 113102 1®32200606man” 6@ S101o636
Prove that the quadrilateral ABCD in the picture is a cyclic quadrilateral ( March 2013)

()



12.

Q

2@ODIT §2101QYODOMIG @Yo 3 eau.a1 gQo aleNw QYOOOD O @RYAo 6 oav.al 9qQo
QYODMEHBEBBU @ORLISS @RHEI0 15 §av.01 QQ@IM”. 06ng QYOMEBBBESWVo HGIFAIOWIEM” PQ

MO} M8 BI6MO (March 2015)

In the figure, the radius of the smaller circle is 3 cms, that of the bigger circle is 6 cms and the
distance between the centres is 15 cms. PQ is a tangent to both the circles . Find its length

13. QINEBBBOS ™80 5 aav.07 AN BB NVASR@GHHI6Mo QAUOQH. MD (@1EHITNOVIM” Dely
0100 |80J8S BT MVD2IDO00 AUOQD:
Draw an equilateral triangle of sides 5 cm. Construct a square having the same area as that
of this triangle.

OR
2N@om@d AB, CD agamlal gomomloag alyoausssgosm”.

SSIOD
AC=4 sav.nl, <DPB=45°

a) <DBQ ®oemé
b) qomoead @Yoo denNgallSlang ( March 2012)

In figure ,AB and CD are diameters of the circle. Also AC=4 cm

and < DPB=45°
a) Find <DBQ
b) Find the radius of the circle
14 2N@o®@3 P agyam en3 QJomesH@om1ed mlane 6 9.0 @rad:eeiism”. P oled mlanss
O®50105806mM° PA,PB ag)amlal . Jomom1ead @yoaje &@Ig0I0HEeS MI80Jo HH06N0d
In the figure , the point P is 6 cm away from the centre . PA and PB are tangents from P . Find
the radius of the circle and the length of tangents (March 2014)

B

(8)



15. A

2N@omad AB = AD, < A= 60°, <C= 150° Groo@d A ¢o&@ao0)as0me” AB @ryonoss
QYD QYoo

a) D @1gjos #sam calo@:enam’ omglo1ese

b) C 0lgos &S @alo@:enam” @& esH (March 2017)

In the figure AB= AD, <A= 60° <C=150°. Show that the circle centred at A and radius AB
a) passes through the point D
b) passes through the point C

16.

2N@o@@ O ¢H@m© Yomamlong emogaloaem’ AC . @ésiem C olad mlan” OA
wlcelanss elomindem’ CB .qomomeaad @roo I eywocd OA x OB= ¥ agan oo 0eRse:

(March 2017)

In the figure AC is tangent to the circle centred at O and CB is the perpendicular from C to OA
If the radius of the circle is r, Show that OA x OB=r’

OR

2N@O®@ @leHemo ABC @os anioaoyQomam1eoad co@adem” P <ABC=40°
<BAC =80° Grnoi@ @1cs0mo APC &S G5:06M80jd:u3 @M ana6d:

In the figure , P is the centre of an excircle of triangle ABC. If < ABC = 40°and
<BAC = 80" Find the angle measures of triangle APC

5

)



oW\ mQes wemlmo  ( Mathematics of Chance)
1. 8® 00151V $HQom@o HAUSOM@MV] GRYeE: 18 YO &gME: H®IT Mo B3
OOMFOMIGI BRI HYADDISIMSB MVIWI® 1/3 @RYem”. ag)es1@3
) HQUVATDHEOS af)SINOAD
b) ©8C®ATDH:80S afINOL®@
C)D®GRIH af)(@ OAUSOMAAD U ST PFOT BHQODMANTNGHNINVBS TVLIWL® Y4
@07 (March 2013)

There are 18 beads in a box . Some of them are white and the remaining are black.

The probability of drawing a black bead is 1/3 , Then
a) How many black beads are there in the box?
b) How many white beads are there in the box?
¢) How many white beads should be added to it so that the probability of
drawing a black bead becomes %

2. 8™ 65l 8 5Qumaewd:ge 12 00I80maaD&ge DME. 01690 Halslol@ 9
SHQONAYDND S0 6 OAUSOMHADHBo DMNE-. VNG HaISIWI@ MIMMo BRI AflMo af)FHBaM.
a) ENZ HOWo HQYBTMH@IMRHIMBB TVIWID ag)ANIEM?
b) 8@ $QomaTmo BG HASCMATDo B;1FIMVSS TVIWI® af)IDIE?
A box contains 8 black beads and 12 white beads . Another box contains 9 black
beads and 6 white beads .One bead from each box is taken.

a) What is the probability that both beads are black?

b) What is the probability of getting one black bead and one white bead?
( March 2015)

2@OMI@  oane” BGRAWYTMEBBME" DM@ AlLj» 1]

eoH@mem” O . oeaqﬂrr),sgdaoe)omg“ Qe

@RAWQYOMONMSBS1@3 B@3 SHOMIFIE  BRD &)2101W

BRAWQYTNBH M EENIBHIMBB TVIWID® af)aD6N? (March 2014)

In the figure there are two semicircles .The centre of the bigger semicircle is O . If a dot is put
inside the bigger semicircle by closing the eyes, what is the possibility of it being inside the

smaller semi circle?
OR

Q63 @Mg%@;gma”l A®@3 10 0190 af)g®IQ HSLIMYHUY BN OalSId-glejo MSITIEsMD.
830600 HaISIVIE3 Mo BICEI HSEMYAI®o  2f)FOMIT B1SAM ENZ  TVoeIYBo

@RI MO BHBIBHINBB  TVIWID® ag)HIEM?

There are two boxes . Paper slips written from 1 to 10 are placed in these two boxes. If
one paper slip is taken from each box , what is the probability of both the numbers in the slips

being prime numbers?
(10)



4.

8@ 0alS1ad 5,10 af)dMEO®I ©eNg &SIy HaHEMEBBSB0 , NOQIB O IS1W1G3

1,3,5 af)omgmlo gan’ &Seiay dheHemeEBgo MSISE. 60600 0alS1RIE Moo 80600

HSLIMYAT®o af)SOID)
a) EMZo BQ MVoAly BRYGINVBS TVIWID® af)@WIEN?
b) 8® 89 MoaIyYL B® MEg MoaI Vo &1FIMSB MVIWID af)@WIEM? ( March 2016)
Two slips of paper marked 5 and 10 are put in a box and three slips marked 1,3,5 are put
in another . One slip from each box is taken
a) What is the probability that both show odd numbers ?
b) What is the probability of getting one odd number and one even number?

5. A, B apalesBom 0mg 921010 aigldud . A 1@ 9 9sS0m aamH:go 8 %HQom
ODHSAMEB @@ 7 90130 0@go 8 HQ0M QE:Se 8@ HalgloGd Man” 3G
DOODMSANEMo

a) 69C0I 9aIgIIed Mmoo OAUSOD QOB 1SSV MVOW ) @?

b) B wlceises”’ s OHAUSOD QOWo BB HQYT HYTWo ST MIHIM GUdaHo MG Mmoo

BB PPOHFOMIT GRD® HOIFOM@IHIMSS NVIW DO ? (March 2012)
OR

A, B apamlemsem 0eng  $01Qd0d .0englele 1 @@ 7 AI90Q88 of)s@ TVo6§dhyd
af)gMNQ HSLINTY BHaHEMEBBUI MSIBIEBMD . 6396 GHAUOTEE MTMMVo BIBDI HSLIITY
HaUEMEBBU  af)SABMM DA eIl A @G MIMMo 1AM Vo6 BMVBSHS MOIMADo
B ol@ mlamo #5150 quoaly alom1ead muoom@o AGIND GaldOe! 3@ O6MBHs Vo6l
DENBIGRMD . MEBBOM af)(@ VMNBAS VoY DENZIHNI0?
EBBOM DENBIABAN B@ OENBHH TVoRIY PDOF MVoAIY BRYHIMBB TVIWID af)(@?

Two small boxes A and B . A contains 9 white beads and 8 black beads . B contains 7 white
beads and 8 black beads One bead is taken from a box
a) What is the probability of getting a white bead from each box?
b) If a bead is taken from B after putting a white bead and a black bead in it, what will be
the probability that it being a white bead?
OR
Two covers A and B . Paper slips written from 1 to 7 are put in the covers .One slip is
taken from each cover Using these, a two digit number is made by placing the number
getting from A in the unit place and the number from B in the tens place
How many such two digit numbers are there?
What is the probability of such numbers being even numbers ? ( March 2012)
6. 800680S" BT PANGH TVoRIY nIOWIN BRYNQIND e |SATO

a) OoLl INAHE@ESo @EIJAINIIMSH TVIWI® af)@WIE?
b)@rWIud alo@an avoaly 6 613 VIMIGRONNAB8 TVIWI® af@@Iem?  ( March 2017)

One is asked to say a three digit number . What is the probability that
a) all the digits of the number are same
b) The number is a multiple of 6

Qe2%0 SHM1 AVAQII& o

1. 34 oM.271938 M18A88 8@ HMI QI8s] B 2IDOAMNBIHBAN. DD 2IDOO]OF
alle:demomload m1so 13 OL.219006M" af)8» 108 21D QIUEBBBOS 80
af)@oem™? ( March 2012)
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A rectangle is made by bending a rod of 34 cm,. The length of diagonal of this rectangle is
13 cm. Find the length of its sides

2. 8@ 25@16HMOM]HF LloMININDERE@ BAMIM” AGYAIDEODBHIUB 6 oav.01 Mgo
&HGOLIM” (@1CHEMOMIO ol |80l 36 21@0Wd HaV.071 @RYWITI @193
£loMIAUNEBBSEOS MIBo 6N

( March 2013)
In a right angled triangle , one of the perpendicular sides is 6 cm longer than the other side.
If the area of the triangle is 36 square cms, find the length of the perpendicular sides

3. a) B MVoaIyYESYo BRI AU SAODEBQo Db 25/12  @yem’. auosy ag®”?

b) sm @RUWIMVoaI QESWo @GO3 mém)”@mmng@go @ af)LI0W B0 2 @ROL18, 13

BR®I® &MLIVI01E8300MM” HMSEVHBB3H ( March 2013)
OR

B3 ¢=0ell REI) @330 @IM” eniosnjall” @renjolemandud 6 Flalnve ST GaleMo

D0IA E6NZ Gol@o 3@ o’ §21Q0@3 4 GlaITVo HH:IME” GRILN @1Bo. )BT BICOITBOMNAHG0
B39’ @Ry ¢2oell §21Q° ®1BHB0NM af)@ GlaITvo GOIME] QIT30?

a) The sum of a number and its reciprocal is 25/12 . What is the number?

b) Prove that the sum of a positive number and its reciprocal is always greater than 2 or more
than 2

OR

Babu requires 6 days more than Abu to complete a job .Together they can finish the job in
4 days. How many days would each require to finish the job alone?

4.  sjgsai’ 70 eav. 019Qo aloqisal’ 300 2I1®0UY HIL.01QQRIW B@ 2I®0o MBleseMo.

5.

D@D QIEBEHS MBo af)IIV@BHEMo? ( March 2014)

A rectangle is to be made with perimeter 70 cm and area 300 sq.cm . What are the
lengths of its sides?

B H2)0ISe920m Glairvoe 1200 @Gaiq) 6006m)01200 @l m06830Q0 Q106EF0. 633
3laive B00smIMo MR &16eNEWIAIM” 40 @al oNl®aoIGa oflel .@ean”

6006mJo MIGBBWO af)@ H1CRINWIo NN’ BRWINRES” &1 ?

2090@ F10IMNo BT H16LIWI0 MIEBBY” BT H1GRIIYWI0 30061BMBHIUB 10 @au
B0, BR@IMIG3 ERWIRAS B3006NeMEnuWd 20 &1eeEIo 168 &BSO@3 &15]
)@@ B 516D B20MNOA3 @ANHEM Oflel af)IHIVI@BAT? (March 2014)

A merchant buys Oranges for Rs 1200 and Mangoes for Rs 1200 daily .In a
particular day the price of oranges and mangoes is Rs 40 per kilogram. How many
kilograms of oranges and mangoes did he buy that day?

In another day , the price of mangoes per kilogram is 10 rupees less than the price of
oranges per kilogram. So he got 20 kilograms more mangoes than oranges ,then
What was the price of oranges per kilogram that day?



6. @;]%Jot;o MV5J0jo @JBOD® aLAIATHH06BRIVMIEMN”. BT RoW) UM IDLICNWEA |0Ud (ﬁﬂ.’}J GMGO
H1PEHNIGo  MVaf BMED AUSCHHNIFo MSBHIM DSEBB]. d12JaleMe9Iud AlMISIG3 30 algd
GSSOG3 CUOW]enem” QREY] MSAN® .o IO A1N1g" MSANEQ U3 MAIR @IN]LIBS aBQQJo G060
@delo 1.5 £16e100193@ @y’ . &1%()(]0 MVaJ0Jo DGa 008 MI@ABAN TLNIMOJo RoUTaHMVo BhIEM]
BB BB aBHGBU0 all@o AP . BIGOIBWBOMo af)@ GO0 MSAN af)aAN” GHEMBNIBBH:. af)ID
CAINODILIEM” BICOIBONDo MSAND ? (March 2012)

@ROLIE, 103
B MorOMIVIGE A8 MOYIM ©ene” 09389EJ09:%6TBU. hOI MENZo DO HNIaj003 18 1m1§
OINE"  MoROMT MI0Wo . QLW @:P@3 M@0 @O HAUAJITE MTOWIHMSHBAN TVAWo
921010 9T HI@0 DOMD AN MOWIHMFABAN TVAVEOMENIUWS 15 almlg” &oaem”

)13 §01010Q HPTI MHI@o DO HOIJIB3 MOWIHMFHBAN MVAWo af)(@WIEN™?

Kichu and Sachu were on a morning walk. On reaching a junction , Kichu moved exactly

East wards and Sachu moved exactly Northwards . Sachu was at a speed of 30 metres per

minute than Kichu. After 10 minutes the shortest distance between them was 1.5 kilometres

Draw a rough figure showing the position of Kichu, Sachu and the junction.

Calculate the distance covered by each. Find their respective speed.

OR

There are two taps opening in to a tank. If both are opened , the tank would be full in 18 minutes
The time taken for it to fill with only the large tap open is 15 minutes less than the time to fill
with only the small tap open. What is the time taken to fill the tank only with the small tap open?

7. ©ad@AU®OPMo 4 @R B@ TVAIINO BUYIMIQYSS aIB6EBRUD af)eIN@3 MVoaYHBIEM”
a) MM cUYMIVINLl 8B aldo X G@RYWIT HDMISSOM alBo GBI
b) oM cuyemwInel @sdajwow e’ IBEEBBOS QYTDBHAESOS D> 4/15
@RYWITI D a1363BUY HeNZa1S1H3H ( March 2015)

The terms of an arithmetic sequence with common difference 4 are natural numbers.
a) If x is a term in this sequence , what is the next term?
b) If the sum of reciprocals of two consecutive terms is 4/15 , find those terms

OR

a) a® 25@ 16O 103 QINEBBBOS MIBEBBRUI, HaldDAIY® JIMVo d enw &
V2D OEEYEMIWLI6M” (@EHHEMOD]NG aBQ0jo aI01W QO3 MIgo x-d @RWIG3 2Q
@G QAUUDEBBBESWQo MIBo B0

b) QI006BBEHS M1Bo MRIMMOEEYEMTVILINW aG® AS@1EHH6M0Jo , AIWEBSHS M0 3,4,5
@GR NS@1CHITNOMIEMIS’ MVZUD NIV HRB0 2N TVABMO]HEB D

a) Lengths of sides of a right angled triangle are in arithmetic sequence with common
difference d . If the length of the smallest side of the triangle is x-d, write the length
of other two sides

b) Show that any right angled triangle with sides in arithmetic sequence is similar to the
right angled triangle with sides 3,4 and 5.

(13)



8. & MoaIiWEsQo @RMIN] QAUYBBG2ODOR FA0 ASERIEBQ0 D 7/2 @ryem”.
a) MLoaly X af)daNSOD’ ®™1g8s aflaIoEBU3Hs” BRMEWIERINIW BT MVANKID:Jo
@BalHO1HB3D
b) avoaly ®»eng alS1ess (March 2016)
@ROLI, 103
8 amuagdl o198 MIBA8S B HMI] AIB )" 2IDOMISHEMo. AllE:AaMOm1O3 MIB0 2 ®IVadl a1900w
B® 2I®00 MEBBOM DNBIBNIM HY1QEAI? o)AV HHI6NE"?

The sum of a number and three times its reciprocal is 7/2.
a) Consider the number as x, construct an equation for the above data
b) Find the equation
OR
An 8 centimetres long wire is to be bent in to a triangle .Can a rectangle with diagonal
2 centimetres be made from it? Why?
9. 8® oaeen TMvoalywlsel @OHNEBFOS  YEMMalLlo 12 ermem. eravoaiiews” 36

2510003 BRENERUY GB16 2B MVoaIY LIE1B80. VoY BN (March 2016)

A two digit number is such that the product of the digits is 12. When 36 is added to the
number , the digits interchange its places . Find the number

10. 52 x 5% 5%............ x5%= (0.04)! @p@I@ N af)@rem? ( March 2016)
If 5*x 5% 5%............ x5%"= (0.04)?' , whatisn

11. 8@ a1@oomloag Mige 20 aavalalgQo aN@ 4 eavadlalgQe @rem. @laad M1goje
1o @rejo 20g] MW BB 21D DMNBIGHWEQ U3 ggggm“8 OVAFIA19A BHOQYHV0
alq 8016 21@oEy 6MVaFIINAd 150 92lQ. 2IDOOm]HF AUNEBBEHS MIBOmIv0
afl@é8o QI @390 af)(@ Afl@@oem™?

( March 2017)
Length of a rectangle is 20 centimetres and its breadth is 4 centimetres .When a new
rectangle is formed by changing the length and breadth , its perimeter decreased by 8
centimetres and area increased by 16 square centimetres . Find the change in its length and
breadth

@1em96ma1®1 ( Trignometry)
1. @ledoemo ABC 13 AB=8 aav. 21 AC=5 aav.o1 <A=50° @rywocs
a) C 0l@d mlan’ AB @lceiss aloasan elomiamoad mige af)@?
b) BC @os m18o &6ngailSlasnd (March 2012)
[ sin 50°= 0. 7660, cos 50°= 0. 6428, tan 50°= 1.1918]

In triangle ABC ,AB= 8cm, AC=5 cm and < A = 50° . Then
a) What is the length of the perpendicular from C to A?
b) Find the length of BC
[ sin 50°= 0. 7660, cos 50°= 0. 6428, tan 50°= 1.1918]



2. aJPEWINAD MIMHBIN BB B3], AQBIVHOAD HOCWIG GalBMD MIBLBAN BT OO IO
AHBQo 55° c0@3cHnemMI3 deng. 3 2198 aJ0CH0g BIOIEMIBEHWER|IUD BR®” 45°
CA@EHNIMILINEM” HNB®” . »51QHs 9o 1.4 algoiem”

a) ®v aaleEBUl Myl 1SN B aGdHE30 all@o QAR
b) ajewes oo neOmHMR WO G060

[ sin 55°= 0. 8192, cos 55°= 0. 5736, tan 55°= 1.4281] (March 2012)
A boy ,1.4 metres tall , standing at the edge of a river bank sees the top of a tree on the
edge of the other bank at an elevation of 55° . Standing back by 3 metres , he sees it an
elevation of 45°
a) Draw a rough figure showing these facts
b) How wide is the river and how tall is the tree?
[ sin 55°= 0. 8192, cos 55°= 0. 5736, tan 55°= 1.4281] A

3. @ledoemo ABC 0le3 AB=AC=10 eav. ol <ABC=50°

a) BC @es m180 &6emaniasa

b) gomameand aiyome ;emenoess  ( March 2013) )500 .
[ sin 50°= 0. 77, cos 50°= 0. 64, tan 50°= 1.19] C B
mo%aaﬂ(oﬁ

8@ OHFISOVOM AHS108 MTHBAN 2001 , BRHOLIYSS B SQIO1HY
ne:0deIwaom 50° camdesndemleje :lsBIwecm 20° 160 HH6MMD.
2001Qes 9o 1.6 219Qo , 2001 Mefesam HHIISTMIO} oo 9.2 219QmIem”

a) @an1gss aflaiesasag @RSINOIMRIBH] BB aBdHE3U0 all@o AIOYE:

b) ed&:gIsE@E Mo Af)(@ BRBHRIWIEM” SQIG?

C) saI01O} DWAC BB

[ sin 20°= 0. 34, cos 20°= 0. 94, tan 20°= 0.36]
[ sin 50°= 0. 77, cos 50°= 0. 64, tan 50°= 1.19]

In triangle ABC , AB= AC= 10 cm ,<ABC= 50°

a) Find the length of BC

b) Find the diameter of the circle

[ sin 50°= 0. 77, cos 50°= 0. 64, tan 50°= 1.19]
OR

Hari , standing on the top of a building , sees the top of a tower at an angle of elevation of 50°
and the foot of the tower at an angle of depression 20° ‘Height of Hari is 1.6 metre and height of
the building on which he is standing is 9.2 metre

a) Draw a rough sketch according to the given information
b) How far is the tower from the building?
c) Calculate the height of the tower

[ sin 20°= 0. 34, cos 20°= 0. 94, tan 20°= 0.36]

[ sin 50°= 0. 77, cos 50°= 0. 64, tan 50°= 1.19]

4. N@omlad ABC & og@lesoemmoem”’  AB=4cm, <A=45" .&soeom AC os
awymnNmanem’D. ag@lad BC,AC, BD gaiges m18o &06mds (March 2013)

(15)



In the figure ABCis a right angled triangle. C
AB=4 cm,<A= 45" and D is the midpoint of AC
Then find the length of BC,AC and BD

45°

4 oav. o

5. aN@omiad APB & ag@lesmosmale ABCD s
VAL IDEOJNIM,. &St  PB=2 eav.a D

af)81@ MVN2IDOOMIOM nlda|geai@? ( March 2014)

In the figure APB is a right triangle and ABCD is a A > C
square . PB= 2 cm .Find the area of the square

P B
7 oav.o
6. (A)s® @le0emom1aag 0eng 0lnEBges MIge 6
oav.219Q0 5 O.219QRIEM”. ERAIYHS MSWILIBS G 50° eRyWows @16H6MOm]6 a3

al0a |80l af)@@Iem? M @16H506MOM1HAZ  FANIAHOD AUWOMIHAF MIBo BHeNgal1S1H63H

[ sin 50°= 0. 77, cos 50°= 0. 64, tan 50°= 1.19] ( March 2014)

@ROLIE, 103
(B) 8® sai0load ajausiad mladesan 1.7 o198 2wonss 80063 50 2198 Gre:0eIss &G
ODHSISOMIO ABHBQ0 60° cA@3EHNIMITI BN, SQI01903 AHSEI T HWO1 EMIBH1WE 03
@@ 50° camdesnremleinsm” @imem’. @anldlesan aNAIEEBBBMIVA ] BT af3dhGRUd
afl@o QI0QYH> . SAI0IEBWQo HHSISOMIERBQo DVWO0 HEMINIBBH:
[ sin 50°= 0. 77, cos 50°= 0. 64, tan 50°= 1.19
sin 60°=0.87, cos 60°=0.50, tan 60°=1.73]

(A) The lengths of two sides of a triangle are 6 cm and 5 cm respectively . The angle between
them is 50° ,What is its area? Find the length of the third side of this triangle
[ sin 50°= 0. 77, cos 50°= 0. 64, tan 50°= 1.19]

A man 1.7 metre tall standing at the foot of a tower sees the top of a building 50 metre away
at an angle of elevation 60° . After climbing up the tower , he sees the top of the tower at an

angle of elevation 50° . Draw a rough sketch according to the given information. Find the
heights of the tower and the building

[ sin 50°= 0. 77, cos 50°= 0. 64, tan 50°=1.19
sin 60°=0.87, cos 60°= 0.50, tan 60°=1.73]

(16)



7.

8.

@les06mo ABC @@ AB=5 oau.al  <A=80° , <B=70°. @les0smomlomd
0 10QJOD @RO0Je OQ AN QIVEBZOS MIBQJo HEMONIIBD: ( March 2015)

In triangle ABC AB=5cm <A=80° , <B=70° .Find its circumradius
and the length of the other two sides

GO | gip cos tan

70 0.94 0.34 2.75

80 0.98 0.17 5.67
OR

¢IallQo VDMYo BB LA JOONIHAF D@ AUUEBBSILJAIWIM” MIETBBIND®. &:51dh8o
GU0ajo0je 860 AIE1WI1EIReM. GWIall I JAOMIOM Adb8Qo 36° cadicantamlelo

womo 52° cnmdcaniemIeje  @0emaN . &:Sld:ud ®mile)ss @re:elo 60 219@ @yem.

a) ®aM@1asaM alalEsEBUd GRAMVA] ] 8@ aBHE3UD al(@o QAU
b) 6122 om0 DWW GHEMBNINEBH

Gopi and Gautham stand on opposite sides of a tower. The children and tower are on a
straight line also. Gopi sees the top of the tower at an angle of elevation 36° and
Gutham sees it at an angle of elevation 52° .The distance between the children is 60 metres.
a) Draw rough figure according to the given information.
b) Find the height of the tower

G 06D sin Cos tan
36° 0.59 0.81 0.72
520 0.79 0.62 1.28

2J0I9S 2 N@O®IGE YODO®]HA GRYoe 15 aav.a
arem” PQ,PR agom OMIFAUABBHNS MIBo
06

In the figure below, the radius of the circle is 15 cm.
Compute the lengths of the tangents PQ, PR
( March 2016)

@ledoemo ABC @lad AB=8  eav.algd BC= 10 eav.algd <CBA=130"" @)e&96mo
(March 2016)

In triangle ABC, AB=8cm BC=10cmand < CBA=130°"
Compute the area of triangle ABC
[ sin 50°= 0. 77, cos 50°= 0. 64, tan 50°= 1.19]

ABC s aloq |80l &:engallslosa

(17)



10. 60 0198 pVOASS B HHFISONOM AHEIG Mo BT SAIGIONG AGBICRIAR0
2JIS1ERINBRS8 &16LIIMGW VLNo@ne 30°,60° @M SAINEM DVWEo kiMgalSlHRE:

(March 2016)
@ROLIE, 13

0 JPEWOOO MIGHBIN B &S], GRANHOEVIG G2lGMD MDHBIN BB AOMIHAY AHBQo 50°
e0@36H9eMIE3 @M. 10 193 a0es:0g 2001 EMIENNWE W3 @@ 25" cawdcanIsmlelsm’
HNRO. 3:51Yes oWoo 1.5 21938. oS afl®IQo AEODIOG DVWONJo HEMENHIB3D:

From the top of a building 60 metres high , the angle of depression of the bottom of a tower
are 30°and 60° respectively. .Find the height of the tower
OR
A boy, 1.5 metre tall, standing at the edge of a river bank , sees the top of a tree on the edge
the other bank at an elevation of 50°. Standing back by 10 metres , he sees it at an angle of
elevation 25% . How wide is the river and how tall is the tree ?
[ tan 25° = 0.47, tan 50°= 1.19]

11.  a® @ledsmomon eaomaud 30°, 70°, 80° agamlasemwoam”. 1o aggajo
92101@ QOO Mgo 10 ®MLAFIA1Q00WIM AQ QIUEBRHOS M1Bo HEAMBNIABH:. 2JAIOS
)

OHISOMIATABIM 15l DalCWIUT1dnIo
(March 2017)

Angle measures of a triangle are 30°, 70°, 80°. If the length of its smallest side is 10
centimetres , find the lengths of its other sides, You can use the following table

70° 80°
sin [0.94 |0.98
cos |0.34 |0.17

tan |2.75 |5.67
12. 8@ &31 20 0198 swoass 8@ saI01laag gegled MIAN” EMIH1WEa |0l BG HHSISOMHN]

aa890 50° ecamdesntsmlejo @rmag ajas” 30° alegoamleje @»eng
a) @1@lesan alaIeEBEMIVE) of GG afdhGBU0 2l@o AIOWY D
b)oads1saje SaIQe ®RRISS @GR®LI0 GHIENOD:
0)sa1016a3 g1@d MM HBSISOBHG 2JAISIGRISBSS GRMGEI0 GHEMBNINRD>
d) 6:51sOm1OMG QW0 BEMENIBRD: ( March 2017)
(sin 50° =0.77, cos 50° = 0.64, tan 50° =1.2, V3=1.7 ag)an’ 9016000 1&690)

A boy, standing on the top of a tower 20 metres height ,saw the top of a building at an
elevation of 50° and its base at a depression of 30°

a) Draw a rough figure according to the given data
b) find the distance between the tower and the building
¢ )find the distance from the top of the tower to the base of the building
d ) find the height of the building
(use sin 50° =0.77, cos 50° = 0.64, tan 50° =1.2,V3=1.7)

(18)



@y aldao6su) & ud( Coordinates)
1. X,y @eeuasud aiosl (0,4),(2,5),(-3,-2) ag)an1 snN@3enud @GRSWILen |SOD @
Draw x and y axes and mark the points (0,4),(2,5),( -3,-2) ( March 2012)
2. D C(8,5)

A(0,2) B(4,2)

2N@olad ABCD a@ avomoamo@lsndem”
a) D @os ayald:avoalydhud af)g@de
b) eom MMM R BHONNO DV af)(@?
C) ™93 2J980J0 al0a{B0Jo B0 (  March 2012)

In the figure, ABCD is a parallelogram
a) Write the coordinates of D
b)What is the height of this parallelogram
¢) Find the perimeter and area of it

o) A(4,0)

Al@oml@ C es@now gomomleel A,B agaml sni@eesgle|ss o®agaiod:siem”
X @paHaje Y @oaHojo A @es myaldmoalyd:dd  (4,0) @y
agMmlaies B,C ag)amlai@es  ayaldhaoeiydhod  @06Mmods

In the figure C is the centre of the circle. X and Y axes are the tangents to the circle
at the points A and B respectively. If the coordinates of A are (4,0), find the coordinates
of Band C (March 2013)

4.  a)(2,4) agam N3 GH@BROVDo 5 QMY BROAS8®MIW Yoo (2,0) agam
M N3aN@BEBST HSANGEAIIG:ERI af)IN’ alQ1GUIW]HE3H:
b)em gomoe X @RoUeO® alsmulasan MNNBLOBOS MYalBAVoAUSHUB af) § D

a) Check whether the circle with centre at the point (2,4) and radius 5 units pass
through the point (2,0)
b) Write the coordinates of the points at which this circle cuts the X axis (March 2013)
5. a) X,Y enaussud aloaf A(5,8), B(3,2) agan1 eni3enud @rswignalsom@.

b) BC agam aitoo X @aHomIm” rumoamoa] aloemanaloe @1e@:06mMo

Ql02J0@3 EPMIHG DWW af) @IV BlHsB0?
(19)



OBC agam aioe X  GRAHOBIM’ (U020 AIEOMEHAIWo alda|gal’ 15
2I@®OUQRMIG" AGBAM MHOMEONI@ 3@ @)EHemo ABC alodss,

a) Draw X and Y axes and mark the points A( 5,8)and B(3,2)

b) If we draw triangle ABC such that the side BC is parallel to the X axis,
what will be its height?

c) Draw triangle ABC , such that the side BC is parallel to the Xaxis and
area of the triangle is equal to 15 square units (March 2013)
a) X,y @nausanud sl A(2,0), B(5,0), C(7,3) apaml mil3eeud Grswogeqa |SOm@:.

b) ABCD 8@ quonomm@la0000@3 D @es aryald:avoalydhed af) @

C)momommaldo ABCD aloges (March 2014)

a) Draw x and y axes and mark the points A(2,0), B( 5,0) , C(7,3)
b) If ABCD is a parallelogram , write the coordinates of D
c) Draw the parallelogram

7. 2N@om@3 gomomien ea@acemn” C(3,0) .

&S0O® YOMHOM1HF @RY®O 5 Qem1gaem”

a) A,BP,Q agaml mazaeses

Y2l H U3 HeNZal1S1H83H

b) qomomesl aagom miaalead

R aldhoay HMgallS1osd

©) (0,5) agam MmNz QYOO INBHEDICENI A CG0) B <
af)am al@1EUIWIH6B3H:

In the figure, C(3,0) is the centre of the circle
and the radius of the circle is 5 units Q
a) Find the coordinates of the points A,B,P,Q
b) Find t he coordinate of another point in the circle
c) Test whether the point (0,5) is inside the circle

(March 2014)
8. a) 3x-2y+9 agam aio (1,6) ag)an enNBoN@3 &Sl &S0 Caldd:ERI af)an”
al®1GUOWIHBH:
b) (3,7) ag)am nNBoN@3 &S] HSAM CalddaNDo 2110l 3/2 ERYVDMNIW
QIOQHOS MVACNM: Yo af) D . AHSEIG3 Myallafla] AIOGHUE TVAIMNERIHEMAN” HASIW]H3H:

(March 2012)
¢) Check whether the line 3x-2y+9 pass through the point (1,6)

Write down the equation of the line through (3,7) and of slope 3/2
Show that the lines mentioned above are parallel
9. 4x-3y-10=0 ag)am a0 alelnem1esa

a) (4,2) agam iz m» alelenseman” oeS1Wess. MM aWleel 2090w milag
IO

b) M 0I0WeS 21B101 GHEMENIHBH:
C) meo 21010i188@0  (3,5) af)a MNBANGE &S1 HSMVEAING:MDAIW QIS

MVAADB Y0 af) D>

( March 2013)
(20)



Consider the line 4x-3y-10=0
a) Prove that (4,2) is a point on this line .Find another point on this line
b) Find the slope of the line.
c)Write the equation of the line with the same slope and passing through
the point (3,5)

10. a) (2,3),(3,-1) a1 NNBEHU3 RIS BRG:LI0 dhNga 1S1H63H
b) (2,3), (3,-1) apam1 Meses cwIxlaflesan alw  (5,-9) agam milazaees &saw
Gal0H:E0? MBBBOS OO0 MVIRDHAN I3 ( March 2016)

a) Find the distance between the points (2,3), (3,-1)
b) Does the line joining the points (2,3), (3,-1) pass through the point ( 5,-9)
Justify your answer

11. v
B
C
o P A(8,0) X

2N@om@ C @000 Qomomland Groo 5 @M. mm gamo A(8,0) agam milazailejes
HSMVEa B, X @RHUHONIM” elognindem” PC ag@slad PB.C agaml snllesges
Y21 TVoRI U3 B6NG1S1H63E: ( March 2015)

In the figure the radius of the circle centred at C is 5. The circle passes through the point
A(8,0). If PC is perpendicular to X axis, find the coordinates of the points P,B and C

12. a)A( 2,3), B(6,3) a1 cizlalesan alo@es aIlal ag)amoem'™?. D QleQes TLUAQIIG: jo
HeNZa N1S1H83H

b) oM e X GReUeT™ aMWIEsD Ml C @eS Myald:aMoalydhud dhengallSlesd
0)AB agam aloes awimilaansm” C agan’ auadLoless

a) Find the slope of the line joining the points A( 2,3), B(6,3) .Find the equation
of this line
b) Find the coordinates of the point of intersection C of this line with the x-axis
¢) Prove that C is the midpoint of the line AB.
13.  A(1,3) agam nilazailgyes , 210l 2 GRO B8@ QAUO &HSAN  Galdd:am

a) B(3,7) agam enfaz m» alo@1eineemd af)am” alo1@udwlasd:
b) @M AeWes MA@ e af)EDH
c) BC=2AB aoomaenalwomlad oM alowleel @ milazanen’ C ageslcd s

nfzaload  aMyald:TVoalydhU3 & eNgallSlHsd:

(21)



A line of slope 2 is passing through the point A( 1,3)
a) Test whether B(3,7) is a point of this line
b) Write down the eqation of this line
c) Find the coordinates of a point C on the line such that BC= 2AB
14. 8@ Q10O al AVAARG: 0 Y=2X  af)M@I6.

a) @ alwleeal 8@ miaganen” A .om milagoloag X ayald:Tvoaly -2 GRHWIG
Y Ngaldaoaly  af)amoem?
b) A coH@20] 5 aronss gomo B(5,5) agan miaalcd @s)
HSMDCAIIG:CRY  af)AN o lB1GUIW B3
C) B ©1@ @51 &:samealodam 8 QYOHO®HF @RY®o 5 90 CH @0 ADHEIDI o IO
QIEW1LJ26M . EHMBODINMG  MYaldhMVolyd:Ud &HeNZal1S1acH

Equation of a line is y=2x
a) A is a point on the line . If the coordinate of A is -2, find its y coordinate
b) Verify whether a circle of radius 5 centred at A passes through the point B( 5,5)
¢) Radius of a circle passing through B is 5 and its centre is on the above mentioned line
Find the coordinate of its centre.

15. X,y @neussud alosf” A (-1,2),B(6,3) a1 ma3enud Grswoveaq|some

Draw x and y axes and mark the points A (-1,2),B(6,3) . (March 2015)
16. (1,5), (x,6) ayam nNl@3aseg cwozlafla) 0@ a0@es aldlal V2 @rem’ X &g aflel
36D (March 2016)

Slope of the line passing through the points (1,5) and (x,6) is ¥. Find the value of x
17. X,y @Gpeussud aes] P (-1,-3),Q(6,-3) , R(0,5) agaml sml3enud @uswoeeq SO

Draw x and y axes and mark the points P (-1,-3),Q(6,-3), R(0,5). (March 2016)
18. (1,3),(2,7) a1 nNa3eaeud codla{la) QIOQAM QIOQES TVANIIE:I0 af)IDIET?

(a,b) agam @ ® aleIeneeMs1ed (a+1,b+4) agam mimol eom
QIO @ODMHMMWINMAN” OS] L8636

What is the equation of the line joining the points (1,3) and (2,7) ? . Prove that if
(a,b) is a point on this line , so is the point ( a+1, b+4)
19. a) @ReUEBWB QI0s]” (2,4)  af)aD M3 ERSWIBHA STV S:. DD MM cHMBNIW] 4 GREYS8
QYOmo QIOYD:
b) oo X GREUEOD E@IFMM MNNGANHAF TYald:MVoRIYBUD GeNgallS1EBG:
C) QYOO Y GROHUOHDOD Q015) HSHBAN NNRHOBOS TYaldHMVoEULHUS HeNGallS1Hss

Draw coordinate axes and mark the point (2,4).Draw the circle of radius 4 units centred at
the above point

a) Find the coordinates of the points at which the circle touches the x axis

b) Calculate the coordinates of the points at which the circle cuts the y axis (March 2017)

20. a)(3, -1), (13, -9) a1 6O I {lE8aD QIO AIFIIVAIY YADOHNAY CH(B0
HMNZa N1S166836. HD UYTDAD]HAZ TVAOND:Jo HINOD: (March 2017)
b)X ayaldavoaly@o Y YaldmoaliQo @elymd milgenud MM Yomomlad 9meoale)
af)am’ HNS1 W HBH
Find the centre of the circle with the line joining the points (3, -1), ( 13, -9) as diameter.
Find the equation of this circle

b) Show that there is no point on the circle whose x and y coordinates are equal.
(22)



21.

30

>

Y'

2N@O@ O eH@Bn® YJomamlaag @yee 6 @anlgoem.  AB agan ale gomeom P @@
omogan .<OAB=30° crwo®d

a) AP apam MNROSOS MY ald: MVoAUSDHUD HheNZallS1H6H:

b) AB @es avaaidio &»engallslesd ( March 2017)

In the figure , the radius of the circle centred at O is 6 units .Line AB touches the circle at P
and < AOB =30°
a) Find the coordinates of the points A and P.
b) find the equation of AB

OR

Y'

aN@om@d  A,B ag)an1 enN3enud cwomla {168 Alo@es auaandyo X+2y=10 erem"
o alowleel nlmesnstem” P.Q
a) A,B agam1 enl3aoges agald: MVoaid0d &»6engallS1ass
b) AB apam ai0e® 2:3 af)am @GRovosmIMLomI@d @auwlesam P agam enilazaiead
MR2lhMVo hH U BHeNZal1S1HEBH:
) AQ:BQ=2:3 @mwi@ Q a)an mNm@aNend myald ToaIydUd &eMgallslosd
(23)



In the figure , equation of the line joining the points A and B is x +2y =10

P and Q are points on this line
a) Find the coordinates of the points A and B
b) Find the coordinates of the point P that divides the line AB in the ratio 2:3
c) If AQ: BQ = 2:3, find the coordinates of the point Q

o1 (@ aleaBud(_Solids)

1. avo21@008®We8s S HSLIMI1@3 33 (m_fu@mcrgo_ﬂoea Mdoxlesan@1m calnzlQss

2@06M” 2J0INS HBHIFONIBB®.

10

12

a) HSeNqYIDg 8@ alem1aad Mgenan?
b) @™ 2N@o HaISIOWSOD” NSH BT TVAIDO 0’§0J1£) OEN2OHR 1WIB3 0’&01]&)@36)8 OM®] af)@?

Figure below shows the diagram drawn on a square sheet of paper for constructing

a square pyramid . What is the length of a side of the square sheet of paper drawn?

The figure drawn in the square paper is cut out and folded to make a square pyramid .

What would be the height of that pyramid ( March 2012)
2. ®S1OHIMNZNBHH QW B3 BRAWEWISOMDTY @RY©o 10 eav.m1 @ryem. BR®1903 Q1Ydalo

af)@WIEM? MM BRAWENIB0 O] alonoalw] alelle )88 633 QJ(GTG)OBOJ']@) OENBIAGMN.
DY QYOMaYa s QOS Qlfdato B0
@ROLIE, 13
240° o @emmoo 15 oav.0N GRaRss ¢e1a0MEM®AIW BT QJOMIoUWo QIS sl
B@ YOOAYalld: PRSI, DO Alfdato af)MOV@lHs0? ( March 2012)

The radius of a wooden hemisphere is 10 cm. What is its volume?
If this hemisphere is carved in to a cone of maximum size , find the volume of the cone?

OR
A metallic sector of central angle 240° and radius 15 cm is rolled up to form a cone.
What is the volume of the cone so formed?

3. a) 4 e9au.01 200 5 ©IVAT ERYONABS YANIYRIGWNIWIEISS BT GLIEOBHTWOS
Qlyalo af)@WoEM?
b) o eea0Bns OBHS1 2 V.01 BRYOOJe BEO PVANBS 5 (ymcr;goﬂ@me;cﬁ

MNB B30T OO0 BT (ym«go_ﬂoemg@s OWD0 GHEMANIBG3E:

a) What is the volume of a solid metal cylinder of height 4 cms and radius 5 cms?
b) This solid is melted and recast in to 5 cones of equal height and radius 2 cms.
c)Find the height of such a cone

(24)



OR
B0 YOMAYoROM N ANQODo BRAWEWNIBEBRUS °LiSla(la] G lOWL|88 B@ S08:1603

2l(@@I6M” 2JQIOS.

@O Hald®OI0W QIOMVo 2 219Qo (%@6)09) Mso 8 0'19Qo @RYEM”. D AVoBOEM]

QOS aj0o 210®o UMMM’ 2IDOEY A1QO1M” 60 @Gal MG af)(©@ Gal@Idso
af)amn” HeMmenIass  ([[= 3.14)

4. 6E19000 HBIMZFINBIGH]Q HFNVWIV BT YADARBOMIHM @Yoo 8 HIV.219Q0 2Wwo 12
OIL.019Q0 BRYEM. DDGBHH] 2 0000193 ERORSs HS1WOW af)©@ m@wewogmgmom%?
@ROLI]T3
[QV]

HSLIMY Q0o BB MVA2IDOMYA ld PMBOGHEMo. 2 10BAIHH 10 oav.019Q0 2o 12
om.a19Q0  GaleMo . @1EHIIMOMNM ERBAGHW of) @ GRWIGlensmo?  (March 2016)

A solid metal cylinder of base radius 8 cms and height 12 cms is melted and recast in to
solid hemispheres of radus 2 cms. How many such hemispheres can be made?
OR
We want to make a paper pyramid with base a square of 10 cms and height 12 cms .What
should be the lengths of the sides of the triangles?

=

B® GRINAOOMH;1S163 Mlawo 20 oL.2798 @RENJo 240° o BeHHMNSs B3 QJODIoUYDABID

Al@O®IGE H0eMMNDEaI0eL] MLl DLIJRINEBBRBIGN] , BR@IT M1MMo GaHW” & 21QEIWo
0016 2]SHABAMN. DD IGWIW] 2] MBI 4] mm@oagu1&mg@sm@mﬂ&ﬂqgg o D@OW1]
28380 af)(@WIM? (March 2015)

From a tin sheet , a sector of radius 20 cms and central angle 240° is divided in to four equal
parts as shown in the figure. Then the shaded portion is cut off. Using this, a vessel in the
shape of a square pyramid is made. What is the capacity of the vessel?

6. 8 V221D NSHQOS af)QIo AIIBGBSBESQo MIgo 12 eav.ol Gryem”

a) O®1OR BT a10BU0IRE 0 10q SO BHIENVD:
b) ®®160a} 2aiRl®El aldq|B80F G060
C)an® m)m@(oagoﬂcemgos QAUSRHBOS MI8o ENg DSEBRIAH]TWIMT DalBIMEl ol |80l
o) @ OSEBBIN:0? (March 2013)
(25)



All the edges of a square pyramid are of length 12 cm,.
a) What is the area of one lateral face?
b) What is the surface area of this pyramid?
¢) How many times the surface area wii be , if the length of the sides of this
pyramid are doubled?
YONIREONING SOOI QYANMYalld: LiSlafly] 8@ LN o N@ONIN GO QWMo 10

2193 @Ryem:. cymagm’lce)oeomm%mg 21010j@A0 5 019Q0 Halo@ON® @RYe 3 A1QQo @Y.
aD@Om1H0} 98838301 af)@ £N1Q0em™? (March 2016)

A vessel is in the shape of a cone attached to the top of a cylinder . Its total
height is 10 metres , slant height of the conical part is 5 metres and the common radius is 3
metres .What is the capacity of the vessel in litres?
a) 0EOMS1VIG3 M| B3 gm«gojo@m‘g@s 2110JA0J0 ald3alVoje 10 o.0193
afl®acem’. @O QlYdaINA@
b) em gmqgoﬁ@a 821001 alo2001W] alefle 988 @ CUISAIBBAD af)i: 103
GULOSOIOHNG QIYIaION@D? ( March 2013)

a) The base diameter and slant height of a wooden cone is 10 cm each . What is the volume
of this cone?
b) If this cone is carved in to a sphere of maximum size , find yhe volume of the sphere.

. DOLHOHIMNE” M0 5] HFWIV BTG YONARBOBINMZ @Yo 6 HAV.019Q0 oW 12

OIL.019Q0 BRYEM.MD® P2l BRE® PWOOo BRYOOIABS B®3 gmagoﬁoe; M3 H630M0.

a) em Mo lQeS alydato af) @Woem'?

b) M GBI ORgH:” DalcIUlal 1 omv.0198 @Rl 12 eav.a19d sWonYss
QUOMIYRIGGIWIEISS 0f)(@ OAEHIBH08 M1dNBHI0? ( March 2014)

Radius of a solid cylinder made of wax is 6 cm and height 12cm . A cone of
same height and radius is carved out from it
a) What is the volume of this cone?
b) How many cylindrical candles of radius 1 cm and height 12 cm can be made using the
remaining wax?

10.8® ooom1e3 M1 2616 JSOm 06N YOOUIEBBHS CH@BEHINODHSUI 60° ©0120° o

11.

@RS DAl OalWIWaf EME” (ymcrgo_ﬂoeme:ua MG H63070.

a) ®al 01V qgojloemgas @Ryoo 5 ®aV.271900@I@3 alelw (rgoﬁoe)mgs)s @RYOOQJo aldBaldal80jo
06N

b)aeNw MY NHQHS DalBI®E! aldg S80I @060

The central angles of two arcs cut out from a circle is 60° and 120° . Using these arcs two
cones are made.

a) If the radius of the smaller cone is 5 cm, find the radius and the base area of the larger
cone .

b) Find the surface area of the larger cone.

12 oav.01 a1d3ai8s0 10 ©00.07 2I610J000J)88 B3T3 V22D QS DVWOHN@WIM?

D@03 Qlydalo GHeMeNIGse (March 2014)

What is the height of a square pyramid with base edge 12 cm and slant height 10 cm
Find out its volume
(26)



12, a1986:8050@6100 MIgo 10 £10.21900® 8@ MV22IDOHHSRIE MO’ 6 21001HVWFHHIOYAN

aBQ0jo QILl® cVISOMIOM DalRIME! al0a]80I af)@WIEN? (March 2016)
What is the surface area of the largest sphere that can be carved out from a cube of side

10 centimetres?
13. a® 21@0895Q0s a1oeEsges Mgo 4,6, 10 eavadlalgoosm”.

a) 1@ Mo 6 21T WYENBISHIOIAM m)aJQ(ocrgnﬂoeamgos a1eM00IW] Qlfdalo af)aME?

b) @@ Moo §2IOHIQENRIHHI0IAD BT IO DM 1MW Qlfdalo dHEMENIBEBH:
(March 2017)

The sides of a rectangular prism are 4,6,10 centimetres
a) What is the maximum volume of a square pyramid which can be carved out from

this prism ?

b) Find the maximum volume of a sphere which can be carved out from this prism
14. 10 #ava31a19ad GRass 66 QYOMOIGE Mo GG QYOMIUdo A01NISe” 8 eauadlalgd
DVONBS 633 gmagoﬂoe; M3 1H66Mo
a) 0019aJSABAM QUTDINCHNHY EH@MBEHNMD af) @WOIWB1HHeMo?
b) snemseom mBoulesam gm«gnﬁ@m‘gas QI3 l0jo AUG®E! al0a|80jo HeNZallS1Hsd:
A cone of height 8 centimetres is to be made using a sector of circle of radius 10 centimetres

a) What should be the central angle of the sector?
b) Calculate the volume and curved surface area of the cone

15. aiweasges mIgo 30, 50, 60 ©aLAF1A19A AN@RIV @NEHIETMONIOG ald |80l
N3 llS1H63d
(March 2017)
Find the area of the triangle whose sides are 30, 50, 60 centimetres

fig0alde@Bgud (Polynomials)

1. x° -3x* +5x+7  ag)aD IgOaIBODIOM  X-3  ©306Ng a0G]2J0d3 15D (Blatgo HHEMO.
X-3 0D MIa0aIBONIOG ALISHNICEMI? af)IDEOBI6NE? (March 2012)
Find the remainder on dividing the polynomial x* - 3x* + 5x+7 by x-3
Is x-3 a factor of this polynomial ? Why?
2. p(X)=x*+6x+k  ag)am Mia0aiBo alBlVEM)B8E:
a) k=10 @ERWIT M MIx0AIBCHIM” BANIo G LISG:EBRUY DML af)aD HMSEV]EBH:
b) p(x) ™" @aMoo G cLISHo DMN2IHMONB 1T K QoS alonoaidi]l aflel af)amoelesemo?
0) k @ ngomelej 6 m%mm)oaucgooﬂel DD:ISHBD . DE@BOHM LIE1ABAMN MIaDaIBEMIHM O6NE”
8M0 H®] MIaDaIBEBRBNS VEMMaNLINIW] af) §D >

d) k ogo MIDAVoEIY @RI P(X) ™" @3 Q@MY BANI0 H@] *LISH6EBRUE 2MNBIWR1H80

af)am” VLS E (March 2012)

Consider the polynomial p(x)= x*+6x+k
a) Show that, if k=10, this polynomial has no first degree factors
b) What would be the maximum value of k so that p(x) has a first degree factor?
c) Give any negative value for k. Write the resulting polynomial as a product of two first
degree polynomials
d) Show that, for any negative value of k, p(x) has two distinct first degree factors
(27)



3. X kx +k= 0 ag)an 0001060010 8@ 2161a0000 0@ED 988 ag)@r1o3 K QoS Mowinow
afeldhud &6 (March 2015)
If the equation x?+kx+k=0 has only one solution , find the possible values of k.

4, x2-x-1 )M MIa0AIBHOM , PN BANIoB®] MNIgDn IBEBBBOS YWEMMaNLINIW] af) D
(March 2016)
Write the polynomial x*-x-1 as a product of two first degree polynomials

5. 3 x%-5X-2 af)a NIg0aIBOO , 0NE SN0 MIa0a IBEBBGOS LEMNMaNLINIWV] af) gD
(March 2015)
Write the polynomial 3x*-5x-2 as a product of two first degree polynomials

6. 3 X*-4x-1 ag)a» NIgOa IBEOMIS’ aB®” MVoaly @5loeneam’ (X-1) 0eIS®:n00 3@

NlaOalBo LIE1HBH> ? ( March 2015)
Which number added to the polynomial 3 x*-4x-1 gives a polynomial with (x-1)
as a factor

7. 3x%-2x*+kx-6 agom MIa0a IBOMNOG eLISHM06eM” X-2 af)@:l@d Kk @es aflel agam?
If x-2 is a factor of the polynomial 3x3-2x’+kx-6 , what is the value of k? (March 2013)

8. a) P(x) = 6x’+3x* o) 6N1a0a 13Om0} 2LIS@206M0 ( X+1 ) ag)a” aldlewowlesd,

b) P(X) ag)a® M120a1360MIS’ aB®’ 8aM00 ] NlaOalBo &Sl

x*-1 0eIS@m0® igOaiBo &5lgo?
a) Check whether x+1 is a factor of P(x) = 6x*+3x?
b) What first degree polynomial added to P(x) gives a polynomial for which
x*>-1isa factor?
@ROLIE, 103

q(X) am)am MIa0aIBEC® (X-2) ODHMg a0ClasEMN8Ss Wlayo K o 1(X) agam

MIa0aIBOO® (X-a ) ODMZ a0C1BEMNESS Wlayo -K @o @RS

a) q(a) oo,

b) q(x) + r(X) agyam M0 IBEMOM cLISHMeM”  (X-a ) M oSV EBH:

The remainder on dividing the polynomial q(x) by (x-a) is k and the remainder on
dividing the polynomial r(x) by( x-a) is -k

a) Find g(a)
b) Prove that ( x-a) is a factor of the polynomial q(x) + r(x)
9. xX’-2x’+X-4 o) MIg0a1BOMOM ( X-2) O30 a0G) 20T 1SN GBlato af)TNEN?
@YBIOOD Mg IBOMIEMIS’ aBD Moy &SIWILEM  CLISHNIW B MigOaldo H1FIN®?
( March 2014)
What is the remainder obtained on dividing the polynomial x*-2x*+x-4 by (x-2)?
Which number added to the first polynomial gives a polynomial with ( x-2) as a factor?
10. A) (a) x*-3x+2 ag)a MIa0aIBOHO® A6NE BINIo G M0 IBEBRBOS LEMMaLLINOW] af) gD
b) x?-3x+K agyam MI20A IBHO ENE” BIMNI0 HW] NIaOAIBBBBOS LEMMaNLINIW]
af) §®IM HY1WMe2ss1e3 Kk @es alomoaiw] aflel agyamo]dlese ?
A) (a) Write the polynomial x*-3x 2 as a product of two first degree polynomials
(b) If the polynomial x*-3x +k is to be written as a product of two first degree

polynomials , then what will be the value of k?
(28)



@ROL8;13
B) P(x)= x*-6X+9 ag)am Mia0aliBo al@l0emasd:.
a) P(3) ®ema9oasd
b) ™ mip0a oM alelwow] m P ITVoR! 43 QI01E] af)an” NVAGLE]H63d>
c) P(a)=P(b) @pysomen alwoml@d a,b agam1 0eng qvoalydud @engalSlesa
Consider the polynomial x*- 6x+9
a) Find P(3)
b) Prove that the value of this polynomial will not be negative numbers
¢)Find two numbers a, b such that P(a) =P(b)
11. P(x) =x*-5X+6 ag)am nia0aliBo al@l0emassd: (March 2016)
a) P(x) om (2x-1) 0506N3 2001686MI0E88 WlaHo 306
b) P(X) o0 & ceisemacemo (2x-1) ? ag)amesoms?
Consider the polynomial P(x) = x*-5x+6
a) Find the remainder when p(x) is dived by ( 2x-1)
b) Is (2x-1) a factor of p(x) ? why?
12, x-3 agan@” 2x>-x? -3x+4 agyam NIa0a IBOMHAF CLISHAIEEMI af)aM” o lB1GUIUSH63 D

(March 2017)
Check whether x-3 is a factor of the polynomial 2x*-x* -3x+4

13. P(x) = x>+5x°+2%-6 af)am MIa0a1300® X+2 ag)aM MaOalBo HBHIMNE a0G1HBEMIUD &15am
a006Manelfo Udlayalo GeMandsse (March 2017)

Find the quotient and remainder on dividing the polynomial P(x) = x*+5x°+2x-6 by x+2

N1 aNale s em He” (Statistics)

1. 8@ o®o¥Icdvooeivisel om¥1eNgld:aes af)siPo Slalrvugsell @MAVEL] af) ™1

alIS13HIeM”  2JQIeS ( March 2017)
dlairvesell( @al) @@osﬂeloglce)gos
af)6INo

400-500 3

500- 600 5

600-700 9

700-800 10

800-900
900-1000

FlainusaselQes awiRo dHeMENIHBD:

The table above shows the workers in a factory sorted according to their daily wages
Calculate the median daily wage

2. 8@ HOAVIOLI aB®IMo &S1HBOS VW0 (0a3121901@3 ) 2JAIOS OBIFOTTHRAT
135, 120, 148, 153, 124, 122, 150, 147

DVOEBBOS DWIAN0 HEMINIGD:> (March 2017)
(29)



Heights( in centimetres ) of some students in a class are given below

135, 120, 148, 153, 124, 122, 150, 147
Find the median of the heights

3. a® (ng%‘)&l WeMI® HMflOL! :31HO8 QWOAMAVE] of af)siPo @] 2] alS1H@IM” 2JQIOS

ODHIGOM]CIHBMD. QVABBSHS BOWYo HiNZallS1ase (March 2012)

The table below shows the number of students in maths club of a school, classified
according to their heights. Calculate the mean height

©Woo( HaV.07) | PSIDSOS afeIPo
110-120 4
120-130 24
130-140 20
140-150 32
150-160 20

4. @ mvol»leel @RoWEBBRNS af)siPo (OVWAMAVALs] aISld:ea]|OMNTV®IEM” 2JAIOS

ODIFOMANHBMMG. BROWEEBHOS AWIN @OV HiNFa NS1HBD, (March 2012)

The table below shows the classification of the members of a committee, according to
their age. Calculate the median age of the members

(@JoWo @YBHGOS af)sTNo
25-30 4
30-35 7
35-40 12
40-45 15
45-50 16
50-55 12
55-60 9
60-65 5

(30)



5.

dlalrvgsel(@al) RN HHIMBOS
Daily wage(Rs) | "P°®°
Number of workers
225 4
250 7
270 9
300 5
350 3
400 )

S8 6MIFIM3 LRIV alel®Oo ¢ROLM §2IQYMABWOS af)sROYe Blalruaselgnoem”

2J0I®S alSlHW108 HBHISOMIRABANGY. MOWIMIW BlalTvesell ag)@WIem”

( March 2014)

The table below shows the number and daily wages of workers in a factory doing
different jobs . Calculate the mean daily wage

6. 8® ool #31HO8 WO GRAAVEaf’ B0 @G a] aIF1®HWIEN 2JOIRS.

Q@)(OG@B%QS OWJAo HI6GIMOD

90o( OIL.01)

&S1HBOS  ag)ePo

Height ( ¢ m) Number of students
140-145 5
145-150 8
150-155 12
155-160 16
160-165 11
165-170 25
170-175 3

(31)

( March 2014)

The table below shows the classification of students in a class according to their
heights . Calculate the median height



7.

8@ al01dH af) @@ 50 3510306 31FNW GVIB algldea SOV

SDEBROMMIEM” . GIVINTHZ AWM HINMD

empod &S1HBOS ag)ePo
10 @3 ®oee 3
20 @3 ®oey 7
30 @3 ®oey 13
40 @3 @™o 22
50 @3 @aey 32
60 @3 ®oey 40
70 @3 @09 46
80 @3 moey 50

The scores obtained by 50 students in an examination is tabulated as shown below

Find the median score ( March 2015)
203D6” @S HGOS af)eRo
Below 10 3
Below 20 7
Below 30 13
Below40 22
Below 50 32
Below 60 40
Below 70 46
Below 80 50

B8@ HJONNT a1DH:SOD HS1HOB QW0 BRMAVA] ] af)siPo @1@la] alSIH®IM 2JAIOS
G HBHS BOWY DVWO0 HETNANIDEH> ( March 2015)

The table below shows the classification of students participated in a camp,
according to their height . Calculate the mean height of the students
(32)



oWoo(eav o) &S1HBOS  af)ePo
Height( c.m) Number of students
130-135 8
135-140 12
140-145 20
145-150 28
150-155 32
155-160 22
160-165 16
165-170 12

9. a8 omIYITs UILIVIB3 alflmDo GRoel] 921QaNAIBOS af)eTPOJo Blalrvgsselo

2J0IHSQYSS 0 151WNG3 3HI6eM1a{lal6Ba0. MW NI FlaITvsesell af)@@alwoam”

The table below shows the number and daily wages of workers in a factory doiné
different jobs . Calculate the mean daily wage

Aavgse(@al) | CREN9IGBeS
Daily wage(Rs) | "9°W°
Number of workers

350-450 4
450-550 7
550-650 12
650-750 6
750-850

aeo: (Total) 30

(March 2016)

10.  10-)0 groaleel 40 &:5la865 80006 2jAIHS aIS1HWIE HDHISODIANSBME@”

@o«)@zsﬂe)ag

QWSRO0 HI6GNMODH

(March 2016)

The table below shows the weight of 40 students in class 10. Find the median of weight

@000 (&1.(Wa0)
weight(k g)

&S1HBBOS  af)eNo

Number of students

30-37

7

35-40

40-45

45-50

50-55

55-60

3
8
6
9
7

aeo (Total)

40

( 33)



M3 1 &3 ( Constructions)

1. 3om.0198 GROASB YOMo AUOW S
a) OV YOmo aldlQYoRIW] AIEEmENANWe GBIMa0Itwd 50°,60°,70° aiman @lesvemo
QO E:
b) A,B,C agam1 enNa3eogl@mdess] QJomoamlm” o@mosalod:ud alda] QJO@mIm” ajoom” 3G
@lemsmoemo PQR amdomlessss
) @ledoemo PQR 608 65:06mM80d03 &M a9Iasd: ( March 2012)

Draw a circle of radius 3 cm.
a) Draw triangle ABC with this circle as circumcircle and angles 50°,60°,70°
b) Construct triangle PQR ,outside the circle, by drawing tangents to the circle at the
points A, B and C
c) Find all angles of triangle PQR
2. a) AB= 10 emu.a, <A=50°, <B=70" aiman @leaosmo ABC  alog@e

b) @em0emo ABC s @pam3qjomo 0l0a] @0o GR8HIMNEDS

a) Draw triangle ABC with AB=10 cm <A=50°and <B=70°
b) Draw the incircle of triangle ABC and write the measure of its radius (March 2013)

3. a) aleBges Mgo 5 oav. 019Qo 4 AL, 219Q0 AU BG 2IWO0 AP . D 2D
@I DEIY 2100 |80JSS BT TVD2IDO0 AUOW D ( March 2013)
b) om qvasi@eomm” @ely al0q|80J88 B@ M2 IGUI@IEHHMo AR

a) Draw a rectangle of sides 5 cm and 4 cm .Draw a square , equal in area to this triangle
b) Draw an isosceles triangle , equal in area to this square
4. QUEBBBeS M8o 6 oav.01 5 aav.a15 aav.01 ERW @EHIMo Al ERGIHNY

@RIAQYODo AIOY D, GRANGYOD @Yo BRBOMED D ( March 2014)

Draw the incircle of a triangle with sides 6 cm, 5 cm, 5cm  and measure its radius
5. 4 oav. 0 CROASS BT YO IOV D

<A=60°and <B=50° aleomes alwomas A,B,C mar qomomleel enlaenyd
@ARBGHINDEaNOL! @)edHemo ABC alogs: ( March 2014)

Draw a circle of radius 4 cm.
Draw a triange ABC such that <A= 60° and <B=50°and A,B, C are the points of the circle
6.  aweasges Mgo 5 omu.al 6 omv.o17 eoav.al @RV 8@ @1EHEMo AR ERGIO]

@RINAYODo QIOQY, GRANGYC @YV GRIOINED D ( March 2015)

Draw the incircle of a triangle with sides 5cm, 6cm, 7 cm and measure its radius
7. QIUOEBBBOS BRBOYHU3 5 oau.al 6 oav.o1 6 oav.a1 ERWY 8@ @1EHEMo AUOYE:. MM

@ElY 0l0|80J8S BG TVNIDO0 AIAQYE: ( March 2015)

Draw a triangle of sides 5cm, 6 cm and 6 cm and draw a square of the same area.
8. awemBeges Mige 7 &av.olgQe 5 6mv.019Qe  HMV.A1 ERH® 2I@Ao AIOPD:. BRED

a10a 8088 GG VAP0 AW (March 2016)

Draw a rectangle of sides 7 cms and 5 cms and draw a square of the same area.
9. 4 eau. 0198 GRHONSS GG YO AOQYE:. YCHODIM SISV , YONEH@BOMIG Mo

8 emu.0l @rdeel P agan milag GrswIgeq |somd. P @lad mliane qomomleelq)’ oang

ODIFOIOHUB AUOY S . HDIFOUOHZHS MBo BRSHINED D, ( March 2016)

(34)



Draw a circle of radius 4 cms. Take a point P outside the circle , at a distance 8 cms from
the centre .Draw two tangents from P to the circle. Measure the lengths of tangents
10. QUEBBBOS MBo 6 ©radlaN9o0® MVAER @NEHIEMo AP D. HED al0a|80I8S TVMIDO0

QIO ( March 2017)

Draw an equilateral triangle of sides 6 centimetres .Draw a square of the same area
11. eaosmazayud 50°, 60°, 70° o @rAREYOm @R 3 HMVAFIINRRID @IEH06Mo QIS

OR
8@ alvoamlaad Mge 7 &avadlalgqQe aldqgai” 36 21@0Ey HIVFIAIGQe AP &G 2ID00
QIO S ( March 2017)
Draw a triangle of angle measures 50°, 60°, 70°and radius of whose incircle is 3
centimetres
OR

Draw a rectangle of one side 7 centimetres and area 36 square centimetres

Prepared by R.Vijayan, H S A( Maths ), SV H S Pullad , Thiruvalla
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